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Tin. Tin.
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Rubric
1 point for the correct answer; 2 points for
‘appropriate work

1yard
9. 12feet + Y20 4yards;
3 yards;

1yard
15 feet + —— =5yards;
Sheat Y

Area of floor = 4 yards « 5 yards =
20 square yards

(one cup) will be left over.
Rubric
a. 1 point for each missing table value
b. 1 point for number of quarts; 1 point
for noting there wil be juice left over:
1 point for explanation
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Select all correct answers.
:f::i:?:"':ssl:g’? E 5. Choose all measurements that are

1. Heather's desk is 3 feet long. About how
long s it in meters?
Use 1 foot = 0.305 meter.

@ 0.00915 meter
@ 0.9015 meter
© 0915 meters
(D) 9.15 meters
2. Alarge container at a party holds 9 liters
of lemonade. About how many gallons of

lemonade does the container hold? Use
1 gallon = 3.79 liters.

(@A 0.4 gallon
(B 2.4 gallons.
@© 128 gallons
(@ 34.1 gallons
3. Joan mails a package that weighs

140 grams. About how many ounces is
the package? Use 1 ounce = 28.4 grams.

@ 0.2 ounce
@® 4.9 ounces
(€ 168.4 ounces
(D) 403.3 ounces

equivalent to 45 meters.
(A 450 centimeters
(B) 4,500 centimeters
@© 0.045 kilometer
@ 0.45 kilometer

(E> 4,500 millimeters

Select the correct answer for each
lettered part.

6. John knows he can safely lift 30 pounds
without help. He needs to move the
following packages. Can he lift each
safely without help? Use the following:
1 pound = 0.454 kilogram
1 ounce = 28.4 grams
1 kilogram = 1,000 grams

a. 9.08 kilograms OYes ONo
b. 9,080 grams. OYes ONo
. 460 ounces OYes ONo
d. 46 kilograms OYes ONo

CONSTRUCTED RESPONSE
7. A chemist has a beaker with 4 fluid
ounces of a solution. The chemist needs
500 milliliters for an experiment. About
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how many more milliliters does the
chemist need? Use 1 fluid ounce =
29,6 milliters and show your work.

4. Aprinting company makes plastic
banners 15 feet long by 6 feet wide. An
overseas customer wants to know about
'how many square meters the banner is.
Use 1 foot = 0.305 meter.

@ 837 square meters
® 27.5 square meters
@© 90.0 square meters
(D) 900 square meters
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8. How many square centimeters of paper
do you need to wrap the box shown
below? Use 1 inch = 2.54 centimeters.
Round your final answer to the nearest
Wwhole square centimeter. Show
your work.

12in

10. Tisha orders a carpet for a room that
measures 270 square feet. The salesman
says the carpet costs $12.00 per square
yard. He explains that since there are
3 square feet for every square yard,
Tisha needs 90 square yards of
carpeting, which costs $1,080. What error
did the salesman make? What should be
the actual cost of the carpet?

1. A recipe includes the following juices.
‘The measurements are given in millters.
a. Find the amount of each in cups to
complete the table. Use
1 fluid ounce = 29.6 mililiters and
1 cup = 8 fluid ounces. Round to the
nearest cup as necessary.
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9. Jorge wants to buy new vinyl flooring for
his kitchen. The kitchen floor is 12 feet by
15 feet. How many square yards is the
floor? Show your work.

Juice

Cups.

Cranberry | 3,500

Orange 950

Lemon 240

b. One quart of cranberry juice equals
4 cups. How many quarts of
cranbery juice are needed for the
recipe? If you can only buy whole
quarts of juice, will there be cranberry

juice left over? Explain.
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The chemist has about

afoz - 251154 mL, soeor
Moz

she needs 500 mL - 118.4 mL =

381.6 mL more.

Rubric

1 paint for correct answer; 1 point for
‘appropriate work

Find the surface area of the box in square
inches.

2(6in. - 6in)+2(6in. - 12in)
+2(6in. + 12in)
=2(36 in?)+2(72in2)+2(72in?)
=72in?+144 in? +144 in?
=360in2
Convert the surface area to square
centimeters. Multiply the surface area by
2.54 centimeters

Tinch
Find the number of square meters.

two factors of

10.

1

Rubric
1 point for correct area; 1 point for
‘appropriate work

The salesman was in error when he said
there were 3 square feet in a square
yard.

Since 1 yard
3feet- 3 feet

feet, 1 square yard is
9 square feet

The actual number of square yards is
1 square yard

270 square feet - 9 square feet

0 square yards
The actual cost is
$12.00

Toquare yara - 2%

30 square yards -
Rubric

2 points for identifying error; 2 points for
calculating actual cost

a

Juice | Milliliters | Cups’
Cranberry | 3,500 15
Orange 950 4
Lemon 240 1
b. 1 quart of cranberry juice holds 4 cups,
1quart 3
50 15.0ups + 00 =3 quarts

Because only whole quarts can be
bought, 4 quarts of cranberry juice are
needed, and one quarter of a quart




